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and W' the most approprics. Picm onz
% of the questions no. 1 1 29 B o S

of bread mould on 2 shice of bread - o "-"'r:"*':-"-i-'ﬂ':é:r—-_a-
(1) Formation of large number of sopp..

==

(ii) Mﬁfm.marﬁmf;&::ﬁx
(iii1) Low temperatore B
(iv) Presence of byphae

(A) (i)and (D)

(B) (i) and(iv)

(ii) and (5)

(iii) and (iv)

(WA
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The ine
Orrect statement about placenta IS :

(A Ttis g g

tis a dige embedded in the uterine wa]]
B) 1t '
. contains villi on the embryo’s side of the tissue

) Tthas gy
€ry small surface are .\
from mother to the embryo, e oo

(D)

The e iti
mbryo gets nutrition from the mother’s blood through it.

An aqu ion ‘A’
queous solution ‘A’ turpg phenolphthalein solution pink. When
another aqueous solutjon ‘B’

o . 1s added to the pink solution, the pink colour
ppears. Now when a few drops of solution ‘A’ are added to this

reaction, the mixture appears pink again. The res
nature of the solution are from -

pective changes in the
(A) acidic — basic — basic
(B) Dbasic — acidic — acidic

(©) acidic — basic — acidic

(D) basic > acidic — basic

The correct sequence of events when someone’s hapg touches a hot oh;
ject

unchSCiously %
in skin = Motor neyr
o tors 1mn on — REIa
(A) Re::r,}:n _» Effector muscle in arm ¥ et Sensory
ne

(B) Receptors o 1 'y B Sensﬂf}’ neur
( euron - Effector muscle in arp, °% = Motor

rs uro -
Recept? ) 1 = Rel
(C) Eﬁ'ector muSCIE 1n arm ay neumn - MDtor

(48))
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5. To balane, the
0

X, ¥ an low; jon,
ik Must b 'g chemical equati®™”

*ZnNg,,  octvely:
3 A ‘
2 == yZn0 + 2 NOg + 2

2
© 2.4, 4,4

2, 4,2

(B)

(D) .
N Which of th ut not 2 combination

reaction ? = fﬂ]]oWing is a redox reaction b

(A)

(C) C+02*’002 (B) 2H2+02F}2H20 3CO

2 F +

ME+ 0,5 2 M0 , (D) Fe,0g +3C0 > 2 7€ .

7 AAn aqueous solution of sodium chloride is prepared in distilled water.
The PH of this solution s :

Aa) 6 . (B)
(C) 7 (D)

8. A metal X’ is used in thermit process. When X’ is heated with oxygen, it
gives an oxide Y’, which is amphoteric in nature. X’ and Y’ respectively

are :
(A) Mn, MnO, (B) Al AlL,O,

«(C) Fe, Fey03 (D) Mg, MgO

The process In Whjc.h tranSport- of soluble products of photosynthesis
takes place in plants 1S known as :

(A) Transpiration (B) Bl

(C) Conduction (D) Translotatisn

) . |factory receptors are Present ig -
in wthh o 15 :
10, Sense organ

(A) Nose
(B) Skin
(C) Tongue
(D)  Inner &7 7
15-31/5/3 P.T.O.
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11. h on
(A) of the fo]lowin : aturd cosystem
(C) Pong €cosyste ek (B) Grassland ecosystem
12 =k €Cosyste (D) Cropland ecosystem
. '—_‘-—-\:P
H ‘--‘-’
e
. p* ~ Uniform
b= NN
> magnetic field
| I
A unij :
diagr;form ma_gnetic field exists in the plane of paper a° shown in the
The el; In this field, an electron (e-) and a positron (p*) enter as shown.
- TOn and positron experience forces :
& both pointing into the plane of the paper.
) both pointing out of the plane of the paper.
(C)  pointing into the plane of the paper and out of the plane of the
paper respectively.
(D) pointing out of the plane of the paper and into the plane of the
paper respectively.
- 13. How will the image formed by a convex lens be affected, if the upper half
. _ ppe
of the lens is wrapped with a black paper ?
, (A) .The size of the image formed will be one-half of the size of the
| image due to complete lens.
| .(B)  The image of upper half of the object wil] not e formed.
' (C) The brightness of the image will reduce,
(D) The lower half of the inverted image wj]| ot be formed.
14. The phenomena of light involved i'n the _formation of rainbow sre -
(A)  Refraction, reflection and dispersion
»(B) Refraction, dispersion and internal reflectiop
(C) Reflection, dispersion and mtetrnal reflection
| . . ion, scattering anq :
: (D) Refraction, dispersio total Internal reflection
9
15-31/5/3
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:

P.T.O.
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16.

(O A straight conductor (B)
A solenoid D) Ad

answer t ] .
below.r ¢ these questions from the codes (A), (B), (C) and (D) as given

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

17.  Assertion (A) : Electrons move from lower potentia] to higher potential in
a conductor.

Reason (R): A dry cell maintains electric potenti i
the ends of a conductor. al difference across

18. Assertion (A) : Some vegetable oils are healthy
Reason (R) :

- . Sex of the children will pe 4 :
19. Assertion (A) herit from their mother. Bte:mmed by what they

}
Reason (R): Women Higve S o Chmmns"mtéS,L

Green plants trap only 1%

of the
falls on their leaves. ehergy of sunlight that

20. Assertion (A):

T

All green plants are the pmduCErs
11

15-31/5/3 l PTO.
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Questions .
no, estions.
*Tto26 are very short answer Lype a4

. S.
21 (a) : uffer from muscle cramp i
Sometunes while running, the a'thletfes s different from aerobic
Y ? How js the respiration in this case 2
Tespiratiop 9
OR : 2
’ : ons.
(b)  Write the other name given to lymph. State its two functi
22. Write the formulg and the molecular mass of the third homologue of
alcohols. State how the boiling point of an alcohol changes as one moves
from lower to higher homologues. =
23. (a) Copper powder is taken in a china dish and heated over a burner.
Name the product formed angd state its colour. Write the chemical
equation for the reaction involved. 2

OR
(b) Write chemical equation for the che

mical reaction
when the aqueous solutions of

arium chloride
ym

the compound precipitated in the reaction,

24. Identify the organ in the human fema)e reprody

ctive system, whe
. re the

sperm encounters the egg cell. What will happen if it jg bloeked ?
? Name

the technique by which it can be blockeq

25. “The linear magnification produced by 5 sphericg] "

i Irror ;
on this statement answer th'e following eorsiin -
What is the type of mirror ?
o Where is the object located ?
(b) : |
- e PTDI?ETt}les of the Image f‘ol'med (othe:
(c siz o/magnification). s

electric lamp draws 4 rreng
s of .
the charge that floy, thrg h 0 5 + Whic

6. The filament of 2"
2 . 2 hours' Calculate

15-31/5/3

A

bols of the ions Present in

which occurs

and sodium

2

2
+3.” Baseq

2
than the

B lighgg for
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. C
uestions no, 7, SECTION

033 qn . 3
7. An ¢ Short ansuwer type question® £ water :
™ Sw .
°r the followip, ¢ electrolys?® )
(@) Why; 8 Questions in the context 0 action ”
18 th; . ition T
(b))  Givi '8 Teaction/process called a decomposit thermiC or
N state whether this reaction
endothepp;
Tmic,
A o € the gageg collected at the anode and cathode. o
: e
catl?tdls')the mass ratio of the gases collected at the ano
Ode Y
8. Differentiate between food chain and food web. In a food chain consistil.lg
of deer, grass and tiger, if the population of deer decreases, what will
happen to the population of organisms belonging to the first and third
trophic levels ? 3
9. Name a plant growth hormone synthesized at the shoot tip. Explain its
effect on the growth of a plant in response to light. 3
0. Name the ore of mercury and state the form in which it is found in
nature. Write the chemical equations along with the condition required
for the reactions involved in the extraction of mercury from its ore. 3
re tall pea plants (TT) wj
1. Mendel crossed Fli’“ ey Tl e) “”lth pure short pea plants ( tt)
and obtained 1 ca'of Bl Drogen g a.nts of Fy progeny were
elf-pollinated, plants ¢f ¥ DIGENY Were obtained,
S -
.1 the plants of F, proge ; .
(a) What did 1 Progeny look like ? Give their ge
combination R
for short
could the gene ness not bhe :
() Why 9 Xpressed in plants of
. ratio of the plants obtained ;
Write the €din F pro
(c) . that can be drawn f; . 2 P1ogeny and stat
conclusion t rom thijg eXperiment. e the
| 15 3
}31/5/3 PTO
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uestions p,, 3440 3¢ SECTIOND . _ide 18
Qre o stiﬂns' n 0 =
L. (a) Des;j "8 answer type qué at carbo d onclumoﬂ 5
C
te ?
©SSentig) fgrexpel'imtmt to demons” observatlon
of the gyp, . © tosynthesis. Write
Mmen,
OR
b) )
Syl'inge
“
Lime water Lime water
(II)
In the e"peﬁm‘?niﬁalbs-e tup shownp abo
() atmospberi® &% 1 CIg pagge TV in gigo
) hile 1 diagram (D) 4. . to hme am
yTinge w Ar i b Water
5 time taken fo, belng With g
water- The bes is diff the e w €xh ed intg 1:
poth the test tU €rent Giy atep to 0 llme
re mi]
., gram of asop Uk
Draw th il and {Hﬂn Pen ¢ Y in
(ii) " cellss ) X to
(n Gv perfarnled  Stoy, Plasy - Pore i i
| tion n
:- func 18 1t, Mentlo abg]
1 twg
;
B-1 / 513 il .
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(b)
15-31/5/3

—-—--_Hi

A fe
W Crystals of ferrous sulphate were taken in a dry boiling tube

an .
d heateq. Tiny water droplets were observed in the tube

—— after

(1) From where did these water droplets appear ? Explain.

(1)  What colour change will be observed during heating ?

(111) How many molecules of water are attached per molecu]e of
FeSO4 Crystal ? Write the molecular formula of crystalline

forms of (1) Copper sulphate, and (IT) Sodium carbonate.

(iv)  State how is Plaster of Paris obtained from gypsum. Write
two uses of Plaster of Paris. 5

OR

An acid X’ present in tamarind whep mixed with Y, produces a
mixture Z’. Z’ on addition to a dough when heated makes cakes
soft and spongy. Y’ is prepared from commop salt and helps in
faster cooking.

@y Wirite the COmMm BAMES oF I, T and W, siilithe chsiisgi

formula of Y.

(i) Howis Y prepared and how does it help in making cakes
?
soft and spongy ? Illustrate the Teaction with suitable

chemica] equation.

Write the name and chemical forp, ) a mild base other

21
P.T.O.

L
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32.

(b)
(e)

°an carry large cyrrents ? '° = ? __,/,{-
) ; : rating 7 &
May be used with ap electrical circutt having 10 A 1 o
_ : 5 A electric * -
Will be fitteq with a 15 A electric boar d and not with &

board ? 3

J .
ustify your answer in each case.

33. (a)
(b)
15-31/5/3

i t
Study the diagram given below and answer the questions tha

follow :

1) Name the defect of vision depicted in this diagram stating
the part of the eye respensible for this condition.

~
(ii)  List two causes of this defect. |
; o
, . 9 (o' e\
(i) Name the type of lens used to correct this defect -
its role in this case.
i 3
OR
What is dispersion of white light ? State 4 cause, i "
; « Uraw o
to show dispersion of a beam of white light by ! dlagram
a gIaSS priSm
3
17 oo
PTo.
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(b) 1,
1st - n can fo
n o p Toperties by virtue Of which carbo " 2 large
Umbey of C0mpounds. 1
(c) .
(1) Write the formula of the functional group present in
(1) aldehydes and (2) ketones. Write chemical equation for
the reaction that occurs between ethanoic acid and ethanol
In the presence of a catalyst. 2
OR
(© (i)

What are structural isomers ? Write the structures of two

isomers of butane (C4Hyp). 2

9. Pollination is an important process jn sexual reproduction of plants. It i
s. It is

an essential process that facilitates fertilisati
- rtilisation in ——_—
Plants. Pollinating

agents can be wind, water, insects an( birds. Severa] dhine 1;
in the flower after the fertilization hag taken place ges take place
(a) Write the main difference betweep,

cross-pollination. self-pollination -

(b) Name the part of the flower which attract

What happens to this part after fertilisatiop, -
n

Define fertilisation. Whgy iS the ¢

ate
in a flower after fertilisag; ., of ovuleg and the ovary

OR 2

Ina germinating seed, Which,
shoot and future root ? Mentio Partg are known as fut
n th ure
) funcﬁon of cotyledon 2

(@ G

27

5-31/5/3

Scanned with ACE Scanner



